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DZDH
FID Shape * O0BJBCTID DZDH_Map
80| = 81 |D=-3==12~
81|52 82 |p=-3==12-
82|= 63 |D=-3==12+
83| = 84 |D=-3==12+
84|= 85 |D=-3==12+
85|= 66 |D=-35=x=+
86|~ 87 |D=-38=x=+
67| & 68 |D=-12=hj=+
88|S 89 |D=-12=hj=~
88| & 70 |D=-12=hj=+
0|5 71|D=-1-22=b=+
1|8 72 |D=-1-22=b=+
2|2 73 |D=-1-22=xd=+
3| A 74 |D=-1-22=xd=+
4|5 75 |DE-1-28=xd=+
5| & 76 |CE-2==Fm=+
6|5 77 |CE-22=Pm=+
TT|E 78 |C2-22=Pm=+
8| A 79 |Cz-22=d=-
8|5 80 |C=-28=d=~
80| = 81 |C=-28=d=+
81| 82 |c=-2z=d=+
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DZDH
FID Shape * OBJBCTID DZDH_Map Arc

80| 81 |D=-3==12+ D<sub>3<{/sub>1<sup></sup>
81|& 62 |DE-3==1=~ D<sub>3{/sub>1<{sup></sup>
62| & 63 |D=-3==1=- D<sub>3{/sub>1{sup></sup>
63|5 64 [D=-32=12+ D<sub>3<{/sub>1{sup></sup>
84| = 85 |D=-3==12+ D<sub>3</sub>1<{sup></sup>
85|5 68 |D=-3==r== D<sub>3<{/sub>r{sup></sup>
66 |5 67 [D=-3==r=+ D<sub>3<{/sub>r{sup></sup>
67| & 68 |D=-1==hj=~ D<sub>1{/sub>hj<{sup>{/sup>
68| & 69 |D=-1==hj=+ D<sub>1<{/subdh j<sup><{/sup>
8% |5 70 |D=-12=hj=+ D<sub>1<{/subdh j<sup><{/sup>
0|5 71|DE-1-28=b=~ D<sub>1-2{/sub>b<{sup></sup>
1|8 72 |DE-1-28=b=+ D<sub>1-2{/sub>b<{sup>{/sup>
2|8 73 |DE-1-28=xd=+ D<sub>1-2{/sub>xd{sup>{/sup>
3| A 74 |D=-1-28=xd=+ D<sub>1-2{/sub>xd<{sup></sup>
4|5 75 |D=-1-28=xd=+ D<sub>1-2¢{/sub>xd<{sup><{/sup>
5| & 76 |C=-2==Pm=- C<sub>2</subdPm{sup></sup)
8|2 77 |CE-25=Pm=~ C<{sub>2{/sub>Pulsup>{/sup>
7|& 78 |CE-22=Pn=~ C<sub>2{/sub>Pulsup></sup>
8|8 79 |CE-25=d=- C<sub>2{/sub>d{sup></sup>
78| & 80 |C=-22=d=- C<sub>2<{/sub>d{sup></sup>
80|= 81 |Ce-22=d=~ C<sub>2<{/sub>d{sup></sup>
81|& 82 |CE-28=d=~ C<{sub>2{/sub>d{sup></sup>
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